
yJ. 

3. 

4. 

5 

5. 

6. 

Which country's Cricket team is not gualiied for 2023 world eup tournament: (A) A fganist:an 

(C) England 

(A) 454ulR 

(C)Bd-s 

(A) Malhabbarat 

(C) Bhagvad Geeta 

(A) 4dLURt 

Indrajit (Megla) an ancient character is from which epic of India ? 

(C) 4AAEllau 

(A) Buddhism 

(C) Shaivism 

(A) qty eiAELs 

(C) àq iuEL4 

(A) 1947 A.D. 
(C) 1949 A.D, 

In 14" Century Kashmir was well knWn centre of which sector ? 

(A) 8.A. 1947 

(C) S.a. 1949 

(A) Rajkot 
(C) Surat 

(A) R1%9e 

(C) 1Rt 

Press Trust of India was established in whcih year 

(A) Calcutta 

(B) Netherland 

(C) Bombay 

(D) West Indies 

(A) L46rtl 

(B) ecB 

(C) ja6 (aiw) 

(D) de2 

MDSN - 2023 - D| 3 

(B) Ranayan 

(D) None of the above 

(B) 214144 

(D) 4Hil Bu 1 

As per population census 2011, which district of Gujarat is 3rd highest among 33 d 

(B) Vaishnava Sector 

(D) Shakta Sector 

(B) uqa iuELs 
(D) 245t 464 

(B) 1950 A.D. 

(D) 1948 A.D. 

(B) S.a. 1950 

(D) S.a. 1948 

In India, the first Municipal Corporation was set up in which one of the following 

(B) Vadodara 

(D) Gandhinagar 

(B) 4s\621 

(D) il4R 

(B) Mad ras 

(D) Delhi 

(B) 4G 

(D) al 



11 

10 

9. 

9. 

11. 

12. 

S 

10 

12. 

7. IVhieh Article of Constitution of lndiu includes the duties Prime Minister ? 

(A)Article- 78 

(C)Article-NS 

I'lnet Mas is rieh i which metalin its soil ? 

(A)CoPper 
(C) Titanim 

(A) nig 
(C) 21s2A44 
1Where the "Nii-La"Pass is located in India ? 

(A) Jammu & Kashmir 

(C) Uttarakhanl 

(A) yt s12+l: 

() GM2s 
Major tribes in Indian States 

(A) Bharia - Madhya Pradesh 

(C) Gaddis - Kerala 

(A) HUl - 4u
a 
(C) la- }aeu 

(C) Food and Agricultural Organisation 

() qes2s il(416}a4 

(A) Sweet 

(C) Salt 

(C) M� 

(B) Article - 68 

(D) Article - 58 

MDSN- 2023 - D | 

(B) 

(D) 19,- 58 

(B) Stroncium 

12495, 68 

(D) Iron 

(B) 2il-à44 

(D) AliS 

(B) Himachal Pradesh 

(D) Sikkim 

Which organisation of the world has its hcad quarter in Washington D.C.? 

(A) World Trade Organisation 

(D) Af 
which of the following is a wrong match : 

(B) Minas - Rajasthan 

(D) Irula - Tamilnadu 

(B) lu - A 

(D) 634u 

In the anterior part at the - tip of the tongue which taste buds are located ? 

(B) Word Bank 

(D) International Labour Organisation 

B) 46s s 

(B) Sour 

ilay 

(B) 

(D) Bitter 

(D) [4j 



13 

14. 

|4. 

15. 

15. 

16. 

16. 

17. 

17. 

Whieh lav is eelebratel in ndia as Army Dav" 
A) 15 August 

(C)O Decemler 

(A) I5l 

What is the curreney of taly ? 

(A) Italian Dellar 

(C) Euro 

(C)yi 
"SAFTA" Full Form : 

South Asian 

(A) Fair 

(C) Foreign 

(A)$2 

(A) Rupeces 300 

() Rupees 150 

(A) 300 3u 
(C) 150 ¿u 

(A) Greater Noida to Agra 

(B) 6h eteer 

(C) Kanpur to Lucknow 

(C) st4y2 l cqmil 

As of October 2023 what total amount of subsidy is available to Ujjavala Yojna beneficiaries ? 

MDSN - 2023 - D | 

(B) Shekel 

Trade Area. Fill up the blank. 

(D) Krona 

(D) sl1 

5 

(B) Fashion 

(D) Free 

(B) `A1 

(D) 1 

Yamuna Express Way connects to which two cities of Uttar Pradesh ? 

(B) Rupees 450 

(D) Rupees 500 

(B) 450 3fu 

(D) 500 3u 

(B) Varanasi to Agra 

(D) Meerut to Agra 

(B) 4RQl l L 

(D) ÀR6 l 4t 

P.T.0. 
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21 

19. 

19. 

20 

20 

21 

IS Who amonp the followiny Gujnti Author is known aN "Miskin" nickname 

(A) Ravishankar Vyas 

(C) Vijaykumar Vasu 

(A) lazis c4 

(A) Ambaji 

(C) Chotila 

(A) H0 

A Famous Culural Van, "Guru Giovind Snriti Van" is located at 

(C) ll 
In India the area under forest cover is about 

(A) 31 % 

(C) 21% 

(A) 31% 

(C) 21% 

(A) 400 kg 

(C) 600 kg 

(A) 400 Beil 

(C) 600 Bel 

(B) Rajesh Vyas 

(A) 22% 

(D) Vaslhvant Slhukla 

(C) 44% 

(B) 12a ctA 

(A) 22% 

(D) 421dt 444 

(C) 44% 

(B) Dwarka 

(D) Mangad1 

(B) Rs 

A merchant has 1000 kg. sugar. He sold some sugar@ 8% profit & remaining at 18%% DroGt ue 

gains 14% on the whole. The quantity sold at 18% i. 

(D) 4113 

(B) 11% 

14% 16\ 4 dl 18% 151dl Aet 2ecl is 2l à? 

(D) 15%a 

(B) 11% 

(D) 15% 

of the total area. 

(B) 560 kg 

(D) 640 kg 

The percentage increase in the area of a square, if each side is increased by 20%. 

(B) S60 (Beil 

(D) 640 Bi 

(B) 33% 

(D) 55% 

(B) 33% 

in Gujarat, 

(D) 55% 



24. 

25. 

25. 

26. 

26. 

27. 

27 

AverwLe of n Crieket pluver for 10 innines was 1) runs if e want io increase the aversye y ore rs (lhe in nex inninp he has to make 
(A) 70 

(C) 8S 

(A) 76 

(C) 85 

(A) 1.8 km/h 

(C) 2.2 km/h 

(A) 1.8 B/EALS 

(C) 2.2 B/sLs 

A boy can swim in still water at 4.5 km/h but he takes twice as long to swim upstream than down 
stream. The speed of the stream is 

Today is monday after 61 days it will be. 

(A) Tuesday 

(C) Sunday 

(A) 4uR 

(C) lQAuR 

(A) 2 years 
(C) 3.5 vears 

(A) 2 qu 

(C) 3.5 qs 

(A) 3/5 

(C) 7/5 

(A) 3/5 

(B) 79 

(C) 7/5 

(D) 87 

MDSN -2023- D| 

(B) 79 

7 

(D) 87 

The compound interest on Rs. 30,000 @ 7% is 4347 Rs. The period is 

(B) 2,0 km/h 

(D) I5 km/h 

(B) 2.0 B/sLS 

runs 

(D) 1.5 &ai/s415 

(B) Monday 

(D) Saturday 

(B) HUR 

(D) alAqLa 

Which of the following fraction is greater than 3/4 and less than 5/6? 

(B) 3 years 
(D) 4 vears 

(B) 3 u 

(D) 4 qu 

(B) 4/5 

(D) 9/5 

(B) 4/5 

(D) 9/5 

P.T.0 
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29 

30. 

30. 

31 

. 

31. 

28. What wvill come in plaee of ouestion mark in the following equations ? 

54.(?)3 + 543 + 5,43 603,26 

(A) 6 

(C)9 

54.)3 54 + 5.43- o03.26 

(A)6 

(C) 9 

(A) 40 

(C) 120 

Three nmbers are in the ratio of3: 4:5. Their LCM is 2400, then their uee 

(A) 40 

(C) 120 

22, 54. 108. 135. 198 their LCM is 

(A) 330 

(C) 5940 

49 Ql 3:4:5 2inaMi9. A-il LCM 2400 dlu dl Aelti HCF }2si 6a 2 

22, 54, 108. 135 198 LCM 2u4l. 

(A) 330 

(C)5940 

(A) 300 

(C) 30000 

(A) 300 

(C) 30000 

Find the next number 125, 80, 45, 20 .7.. 

(C) 25 

(A) 5 

(B) I 

(D)8 

yli2 elll. 125, 80,45, 20 ..?... 

(B) I 

(C) 25 

(D) 8 

(B) 80 

If an obËect moves at five feet per second, then it will move how many feet in an bou 

(D) 200 

(B) 80 

(D) 200 

(B) 1980 

(D) 11880 

(B) 1980 
(D) 11880 

(B) 18000 

(D) 180000 

(B) 18000 

(D) 180000 

(B) 15 

|o|o e (D) 35 

(B) 15 

(D) 35 

1-S 



34. 

34. 

35. 

35. 

36. 

36. 

37 

SI S2+ 53... I00 is equal to 

(A) 2775 

(C)4775 

(A) 2775 

(C)4775 

(A) 23 

(C) 31 

(A) 23 

What least number mst be subtracted rom 13601 so that the remaindler is divisilble by 87 

(C) 31 

(A) 64 

(C)37 

(A) 64 

(C)37 

(A) 391 

(C) 481 

Find the odd man out. 2, 5, 10, 17, 26, 37, 50, 64, ? 

(A) 391 

(C) 481 

(IB)3775 

(D) 5775 

(A) 500 

(B) 3775 

is I2 24l. 2,5, 10, 17, 26, 37, 50, 64, S So 

(C) 800 

(D) $77S 

(A) 500 

(C) 800 

(B) 29 

uel s al. 7,26, 63, 124, 215, 342, ? 

(D) 37 

(B) 29 

(D) 37 

(B) 50 

(D) 10 

O(D) 10 

(B) 421 

(D)5115 
(B) 421 

A student has to obtain 33% of the total marks to pass. He got 125 marks and failed by 40 
marks. The maximum marks are 

(D) 511 

(B) 600 

(D) 1000 

(B) 600 

3 

(D) 1000 

S. 



39. 

40 

0 

The priee ofa bk is 
irstleereased by 25 al then increased by 

in the price is * 

(A) I0 

(C) 30 

(A) 9.5 km/h 

(C) 10.5 km/ 

tall sal ? 

A man's speed ith curent is I5 km/h d the speed ofCurrent is 2.5 km/h 

against the current is ? 

(A) 9.5 L/ss 

(C) 10.5 Bll/scLs 

(A) 42 

(C) 28 

(A) 42 

(C) 28 

(A) 19% 

(C) 21% 

(C) 21 

(A) 19% 

(ID) 20 

B) 20 

DSN- 2023 -D| 

(D) 40 

10 

Two trains are running in the opposite direction in the samne speed. The length of each tet, 

120 mtrs. and thev cross cach other in 12 seconds. Then their speed is 

(B) 0 km/h 

(D) I| km/h 

(B) 10 Call/scLs 

(D) 11 Bll/541S 

(B) 36 

(D) 20 

(B) 36 

(D) 20 

A shop keeper cheats to the extent of 10% vhile buying and selling by using false weight. llis 

total gain is ? 

(B) 20% 

20%. Then 

(D) 22% 

(B) 20% 

tlhe nel chanp 

(D) 22% 

The speed of a man 

km/hr. 

|Contd. 



45 

43 

45. 

46 

46 

te sellint 45 lemons for Rs, 40, a man Ises 20"%. Ilaw much he shnld charpe for 1% lemons t eain 20%? 

LA) RS. 12 

(C) Rs. I8 

20%% 15l 4 

(A) 31. 12 

(C) 31. IS 

(A) 560 

A bap contains 50 P, 25 P anl 10 Peoins is the ratio of5: 9:4 and the total amount is Rs.206. 
Find the total no. of coins ? 

() 720 

(A) 560 

(C) 720 

(A) 2 :5 
(C)4: 5 

(A) 2 : 5 

(C) 4:5 

Two numbers are respectively 20% and S0% more than a third number. The ratio of these 
numbers 

(A) 6 

(C) 10 

(A) 6 

(3) Rs. l6 

(D) Rs, 24 

(C) 10 

(B) 31, 16 

(D) 3L. 24 

(A) Anterior Pitvitary 

(B) 520 

(D) 820 

(1.5)+(4.7 +(3.8)-3( 1.5x4.7 x3.8) 

Simplify 1.5)+(4.7' +(3.8)-(4.7x3.8)-(1.5x4.7)-(1.5x3.8) 

(C) Adrenal Medulla 

(B) $20 

MDSN - 2023- D| 

(D) 820 

(B) 3: 5 

(D) 5:4 

(B) 3:5 

(1.5 +(4.7y +(3.8)-3(1.5x 4.7 x 3.8) 
(1.5)*+(4.7)° +(3.8)-(4.7x3.8)-(1.5x4.7)-(0.5x3.8 33 

(D) 5 :4 

(B) 8 

(D) 12 

Which of the following has both endocrine and exocrine functions 

(B) 8 

(D) 12 

(B) Thyroid 

(D) Pancreas 

(B) usaSs 
(D) 1�is (Q-aus) 

P.T.0. 
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50 

49. 

50. 

51. 

52, 

51 

47. 

47 

Trident hand is seen in 

(A) Achondroplasia 
(C) Mucopuksecharidesis 

(C)sila/2 ilet 

Rheumatoit Atritis ean cs 

A) nterstital inmion 

(Cpc 2 atopl 

(A) tils 20 

(C) As122 2161 

(A) Milk 

(C) Soda 

(1) 

(C) aist 

Food th should be avoiled in n aleohol withdrawal elient ? 

(A) SO beats /minute 

(C) 120 beats /inute 

(A) So la 
(C) 120 Ml2-l2 

Oxytocin cause all except 
(A) Lactogenesis 
(C) Contraction ofuterine muscles 

(A) Àbalo4ela 

During sleeping, normal heart rate of nesborn is 

Ergometrine is commonly given for 

(A) PPHI 

B) SeurYy 

(C) Dysnmenorrhea 

(D) Nene ol the above 

(C)sd-ilu 

(B) 242 

(B) Vasculitis 

(DAM of the above 

(B) 4es4al 

(B) Orange Juice 

(D) Regular Coffee 

(B) 41<ll-il 2a 

(D) Aua Sisl 

(B) 100 beats / minute 
(D) 140 beats / minute 

(B) 100 le/4-l2 

(D) 140 olle/a-l2 

(B) Milk ejection 

(D) Myoepithelial cell contraction 

(B) les 6*5814 

(D) H4AQalua Aai isla1 

(B) To shorten 2nd stage of labour 
(D) Toxemia in Pregnancy 

f2 



55 

56. 

57. 

57. 

58 

la niuein delicicney, il he felluwin! He en IA) Deafness 

(C)Detentia 

(C) 6-4E 

1Vhiclt of the following viral infeetinn is trunsmitted by tick (A) Japnese Encephalitis 

(C) Kyasann Forest Disease 

(C) saM 6R2 lal 

(A) Mild 

(C) Severe 

(A) ENg 

Au 1O ievel between 50 to 70 would be clasified as what kind of mental retardátion? 

(C) Yicla 
Leprosy affect all except 
(A) Uterus 

(C) Eye 

(A) iey 

(C) 04 
The Antidote of wvarfurin is 

(A) Protamine Sulphate 
(C) Vitamine C 

(A) ilai16 ac�e 

(C) lalM 
Echinocandins are not active against 
(A) As per gillus 

() Cryptococeus SPP 

(M) Darthea 

(D) bermatitis 

(C) Avà gl5 .. 

MDSN -2023 - D| 

(b) Dengue Fever 

(D) Yellow Fever 

(s)3y la2 
(D) 44i 6l42 

(B) Moderate 
(D) Bor diseases 

(B) 444 

(D) 2 L 

(B) Testis 
(D) Nervous Systenm 

(B) ysis 
(D) 14a la24 

(B) Vitamin K 
(D) Vitamin 

13 

(B) larl-3 
(D) Ql2l-A 

(B) Candida SPP 

(D) None of the above 

(B) -44a. 

PT.O. 



50) 

63 

64. 

64 

59, 

(60. 

61 

61 

63. 

62. 

Ototosicity is mimm i 

(A) Sreptoycin 

(C) obrmycin 

(A) Hll+ 

(A)APGAR Seore 

(C) GCS (Glasgo Coma Seale) 

(C) D.l,a. (34a siI aa) 

Major cause of Blindness in India is 

(A) Glaucoma 

Which ofthe ollowinp is used lo assess the level of conseiousness 2 

(C) Corona Blindness 

(A) qi4 

(C) il 4a 
Likert scale is 

(A) Ordinal Scale 

(C) Variance Scale 

Which is abbrevation of ANOVA? 

(A) Analvsis of Variance 

(C) Analysis of Variant 

Standard deviation does not depend on 

(A) Mean 

(C) Range 

(B) Kanamycin 

(D) Amikacin 

(C) acl 

(B) 

(D) 

4ell 

l 5tafl-t 

(B) Braden Seale 

(D) Snellan Chart 

(B) Às4 e}a 

(D) A14 

(B) Refractive error 

(D) Cataract 

(B) asàsâlq ea 

(D) ilal (3224) 

(B) Nominal Scale 

(D) Categorical Seale 

(D) a-lgt aa 

(B) Analysis of Variation 
(D) None of the above 

(B) Àulla is Aliat 

(B) Median 

(B) HyH 

(D) Sample Size 



67 

60 

Whielh ntiubereular treatment will eause transient memry Iss 
(A) Ehinanmide 
(C)Embutol 

The urnose of conduet stafl traininy is tu 

(A) Improve qualiy of work 

(C) Help improve communication 

(C) lts symmetrical around the mean 

(A) ACTH 

C) Lufeinzing hormone (LH) 

(A) lal 
(B) Al li4 

The characteristics of an ideal normal distribution curve is /are 

(A) Bell shaped 

(D) usads alyaala iin (a.a.da) 

(A) Sharp rice in blood pressure 
(B) Increase Proteinuria 

Gonadotropin releasing hormone stimulates the release of 

(C) Severe Headache and Visual disturbance 

(D) All of the above 

(B) INI 

() llyuHi aua 

(D) Pyrziumide 

(D) 64al4t H4 

( a5,,324. 

(D) 9A4s-s 

Serious signs and symptoms of Preclampsia are 

(B) Improve staff morale 

(D)Al of the above 

(D) 6uasrt H4 

(B) Men, Median and node lo not coinide 

(D) All of the above 

(D) Gualst aHH 

(B) Growth hormone 

(D) Thyroid stimulating hormone (TSH) 

P.T.0. 



70. 

70 

71. 

72 

73) 

74. 

78 

75 

76 

77. 

This organization is the leader in nursinp diagnosis classilication. 

(A) Amnerican Nurse Association (ANA) 

(B) American Mledical Association (AMA) 

(O North Aeriean Nse, Dipnosis Associatiom (NANDA) 

(D) American NuNe Diapustie Society 

(B) 
(C) d iRsell 44-alla all1a1 (-i6) 

(A) 4-MIGIA 

(A) aaf4Ar 

(C) M294-4l uy 

(C) EQls 

st àlsgalala1 (,,.) 

(A) 2u. (a. VI6s 

(C) leisa 'el 

(A) 2L. à. L65 

(C) dIHIA 

(A) Gd + GA 

(C) 6: + 1 

(A) 44uí 
(c) Au; 

(A) yd 
(C) Al 

(B) 4an4 6L`R 

(B) 42-l 444t 

(D) ylalaAH 

(B) 2À2iE Ael 

(D) S181 s1GAsR 

(B) 124RAIG ÚSl 

(B) 4. s. 6L912 

(D) 281R 

(B) 6; + 4H 
(D) G4 + GLA 

(D) Qas 

(B) Ag4 

(D) 4t 



74 

84. 

85. 

86. 

87. 

SS. 

89. 

(A) G4 

(C) 4t6R SE 

(A) 4HS 

() a4 

(A) lHospitable 

(C) Generous 
We could see the river 

(A) before 

(C) beside 

You 

(A) are, is selecting 

(C) have been, was selected 

He should 

Select correct antonym of the given word. "Miserly"" 

(D) G,4t 

(A) be taking 

(B) G 4121 

(C) have taken 

(D) 544Ry 21H12 

(B) 4RI E9E 

(D) qialASL EE 

(B) (u4 
(D) Gàau 

(B) aai% 

(D) sladl 

pleased to hear that your father 

(B) d aulee uus 

(D) 4HI 4S1211 

(B) Philanthropic 
(D) Lamentable 

us fromn the bridge. 

(B) on to 

(D) below 

to the committee. 

(B) will be, has been selected 

(D) ave been, selected 

the exam in May, but he was ill. 

(B) be taken 

(D) have been taken 



90 

01 

92. 

94. 

3 

95, 

96. 

97. 

98 

I00 

Ile wants 

(A) to make 

(C) malkes 

Do yo want 

(A) bav ing, riking 

(O have, for drink 

(A) Fupitive 

(C)Aseetic 

(A) troop 

Seleet appnpriate one sword for "one who leds n austere lile". 

Arijit Singh had a good 

(C) troupe 

Iwas so 

(A) admired 

(C) amazed 

(A) In addition to 

(C) Beside 

(A) a problem 

(C)an energy 

(A) finished 

complaint about the owner. 

(C) have finished 

SHmetthin! 

Her 

(C) Someone have cut the internet wires. 

(D) Someone has cut the internet wires. 

We our lunch half an hour ag0. 

(A) forgetness 

(C) forgotten 

The restaurant has sone of the best chefs in the town. 

for sage. 

(A) Sieze 

(B) making 

(D) made 

(C) Fierce 

(B) to have, drinkinp 

(D) to have, to drink 

Select the wrongly spelt word. 

(B) Gourmand 

Philosophy has alwavs been an enigma to me. Replace the underlinel word. 

(D) Flotilla 

(B) trupe 

by the news that I don't know what to sav. 

(D) trup 

The internet wires have been cut. (Change the voice) 

(A) The internet wires have cut by someone. 

(B) Someone has been cut the internet wires. 

(B) marveled 

(D) wondered 

(B) Morever 

(D) Although 

(B) a mystery 

(D) a draft 

(B) had finished 

(D) has finished 

(forget)) nature often puts her in critical situations. (Choose the correct suffix) 
(B) forgetless 

(D) forgetful 

their service is excellent. 

(B) Grief 

(D) Piece 
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